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h@’i Chapter 2 Inverse Trigonometric Functions

EXERCISE 2.1

Question 1:

sin”' [- —J
Find the principal value of 2).

Solution:

; 1
sin”! (-— —j =y
Let, 2

Hence,

T
Range of the principal value of 8" ' (¥) is [ & 2)

e
Thus, principal value of 2 6/,

Question 2:
cos” [ﬁ}
Find the principal value of 2
Solution:
cos | — |=
Let, ) <

Hence, N (ﬁ] @60 c,;\\O
2

T
8= %
Range of the principal value of cos”' (x) js (0.7) . OQ (&
AN
cos” (QJ = (EJ \\ @
Thus, principal value of 2 6
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Question 3:

Find the principal value of €05€¢ (2).

Solution:

Let cosec (2) =y
Hence,
cosecy =2

(&
=cosec| —
6

-1 T
o cosec (x)=[——,—}—{0}
Range of the principal value of 2°2

()

Thus, principal value of

Question 4:

()

Find the principal value of tan-

Solution:
=) | _
Let, @0 (_ﬁ)* Y
Hence,
tan y = —\6

-1 T T
o - (x)=[-—,—]
Range of the principal value of 22

tan™' (—\/g)

Il

|
w N
B T o

Thus, principal value of

Question 5:

-1 _l] .
Find the principal value of o8 [ 2 ‘\\\ ®®
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Solution:

1
cos™! (——] =y
Let, 2

Hence,

I
COSy=——
Y=73

5
=—cos| —
3
(=)
=COS8| T ——
3
5
=cos| —
3
Range of the principal value of cos ™' (x)=[0,7]

(5
Thus, principal value of 2 3).

Question 6:

Find the principal value of tan ' (~1)

Solution:

Let, tan (-1)=y
Hence,
tan y=-1

-1 P
o tan (x):[——,—]
Range of the principal value of 22

tan”' (—1) = —E)
Thus, principal value of (=) [ 4. <&

Question 7: i 6\(0 %_
sec™ {—) Q Q
Find the principal value of V3 . O K
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o ()= 0.4] _{%}

Range of the principal value of

S
Thus, principal value of V3) \e).
Question 8:

peot'(3)

Find the principal value o

Solution:
Let cot” (‘ﬁ) =

9

Hence,

cotyzﬁ

ol

Range of the principal value of ot ' (x)=(0.7)

cot ™' (\/5) =(%]

Thus, principal value of

Question 9:

cos™ (— L)
Find the principal value of V2

Solution:

cos ' [—LJ =y
Let, V2
Hence,
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1
Cosy =——=
NG

Range of the principal value of cos ™ (x) =[0,7]

o2
Thus, principal value of V2 4/,

Question 10:

-1
Find the principal value of “°%¢¢

Solution:

Let cosec” (—

Hence,

Range of the principal value of

Thus, principal value of

Question 11:

)
\/5)=y

cosec y = -2

T

=—CO0Ss8eC| —
( 4]

Vs

=CO0s5€C| ——

4

(5]
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Therefore,

cos™ (—l] =y
Now, let 2

Hence,
cos Sy
y==3
Hl
=—c08| —
3
T
=cos| T ——
(=-3)
%)
=cos| —
3
Therefore,

Hence,
sinz=-— x
2
=—gin [%J @
=sin = 60 :\}O
Therefore, [ 6] @ beo

Thus, ) \‘\\O @@
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tan~' (1)+cos™ [—%]4— sin”' [_5] = Z+_—_

Question 12:

cos”™ [lJ +2sin”! (lj
Find the value of 2 2

Solution:
tan' (1) =
Let, a0 ( )‘x
Hence,
1
coSXx = —
2
3
=cos| —
3
Therefore,
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herefore,

Thus

2
© 3

Question 13:
Find the value of sin” x =y then

o<
(A) 0<y<m @) 2 72

r_ %
(C) 0<y<nm ® 2772

Solution:

It is given that sin~' x=y

o sin"x=[——,—:|
Range of the principal value of 22
Thus, 2 2

The answer is B.

Question 14:
Find the value of tan™' v3 —sec™ (-2) g equal to

(A0 (B) 3
T 2
©) 3 D) 3

O
Solutio-lrz ) @60 (’}\
Let tan (\E)—x &6 Q
Hence, . \(b
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o tan‘lx=[——,£]
Range of the principal value of 2°2

tan”' (Jg)=[%]

Therefore,

Let sec” (-2)=»
Hence,

o sec”'x=[0,7] —{E}
Range of the principal value of 2

27
sec (=2)==—
Therefore, ( ) 3
Thus,
tan ™' _’y—sec'l(—z)=£—2ir
3 3
y 3

The answer is B.
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EXERCISE 2.2

Question 1:

3sin”' x=sin™ (3x —4x° ), e [—1,1]
Prove 2°2].
Solution:
Let x =6in
Hence, Bin"' (x) =
Now,

RHS =sin ' (3x—4x)
=gindfdsi - )
=8in'(sin3 )
=8
=3sin”' x
=LHS

Question 2:
-1 - 3 1

3cos™ x=cos (4x —Sx),x € [—,1]
Prove 2" 4
Solution:
Let x = fos
Hence, Bos ' (x )=
Now,

RHS =cos ' (4x° -3x)
= eos31c(@hﬁ)53 - )
=60s ' (cos3 )
=8
=3cos ' x
=LHS

Question 3:
tan "' i+ tan ' i tan"' 1
Prove 11 24 2.
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_ tan” x+tan”' y=tan™ Lasr
Since we know that 1—-xy
Now,
LHS =tan"£+tan’li
11 24
2 7
L1124
~E 2T
11 24
48+ 77
T 264
=En " A
264
= tan”" E
250
(3]
2
= RHS
Question 4:
tan! L 4 tan™ Lo 1l
Prove 2 7 7
Solution:
= o 2x -1 a1 4 Xty
. 2tan' x=tan"' tan” x+tan  y=tan ——
Since we know that 1-x* and 1-xy
Now,
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44 _1[1]
=tan | — |+tan | —
(3 7
(4 1
4| 377
ol by
1___._
37
(28+3
—ganl| 2
R
\ 21
(31
=tan | —
17
= RHS
Question 5:
tan‘lIJr;E_1 x#0
Write the function in the simplest form: x ’
Solution:
Let x=tan0 =60 =tan 'x
Hence,
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4
— V1+x% -1 g JV1+tan®6 -1
X tan 6
— [ secH —1]
tand
- 10059]
\ sin®
., 0
2sin’® —
—tan~}
a9 ¢
2sin —cos —
2 2
o af BJ
=tan | tan—
2
=P
2
| S
:Etall X

Question 6:

1
tan” ——— jx[>1
Write the function in the simplest form: Vx? -1

Solution:
Let x =cosecd = 0 =cosec 'x
Hence,
1 D 1
tan ! =tan’

x*=1 Veosec’d -1

i 1
=tan™'| —
ootﬂ]

=tan"' (tan6)
-0
= cosec 'x

T -1
=—=8CC X
P

Question 7: «('o
l—cs::s;nr}0<x<:ir \(b %_Q

tan ' [
Write the function in the simplest form: I+ cos x
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an
4| [1T—cosx 4
tan = lohi
1+cosx
X
sin—
—tan”'| — 2
X
cos—
X
=tan'| tan=
2
X
2

Question 8:
[ cos x —sin x
. L ) tan | ———— |,0<x<n7m
Write the function in the simplest form: COS X +8In X
Solution:
( cosx—sinx
[ cosx—sinx _
tan”' | —————— |=tan™" cos X
cosx+sinx COS X +sin x
cosx
sin x
1—
=tan’ COs X
sin x
1+
\  cosx

o ()

=tan"' (1)~ tan™' (tan x)
N

-2 @a} \)

Question 9: %
—_— x‘ <a ’\ @
Write the function in the simplest form: Vat - x* ‘\\ \/@
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Solution:

x=asinf =0 =sin"" (i)

Let a

Hence,

=tan™' (tan0 )
=0
e
=5 —
Ié

Question 10:

! (3a2x—x3J —a a
. . . 3 s
Write the function in the simplest form: a —3ax

Solution:

x=atan0 =0 = tan"[fj

Let a

Hence,

oo 3a’x—x° e 3a’-atan@ —a’ tan’ O
a’ —3ax’ a’ —3aa’ tan’ 0

- 3a’ tan@ —a’ tan’
a’-3a’ tan’ 6
=tan~' (tan 30) @
_3 6\3 \30
=3tan* 2 < &

, %
R
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Question 11:

tan [2 005[2 sin”™! —H
Write the function in the simplest form: 2

Solution:
.1
Sin —=Xx
Let
Hence,
: 1
SINX =—
o)
=s8In| —
6
T
Xx=—
6
._,(1) n
sin” | — [=—
2 6
Therefore,
tan {2008[251&14 %ﬂ =tan™ 2cos[2x£]]
=tan™' 2(:05—]
<0 I}
=tan™ | 2x—
[ 2
=tan"[1]
pr
T4

Question 12:

- -
Find the value of ©€°t (tan a+ cot a)

Solution:
tan”' x+cot” x =2 @
Since 2 .
Hence, 60 &O
<

5 g T
cot(tan 'a+cot™ a) = cot[;]

~0 %
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Question 13:

i 2
tanl(sin“ X tcos™ = J|x| <1,y>0
Find the value of I+y

Solution:
Let x=tan0 = 0 =tan' x
Hence,
i 2% ) ]( 2tan0 ]
sin s=sin | ————
1+x l1+tan- @
=sin"' (sin 20)
=20
=2tan' x

Now, let y=tang =>¢ =tan”' y

Hence,
1-y* 1-tan’
cos —2_ = cos™ 7an2¢
1+y l+tan” ¢
=cos ' (cos2¢)
=2¢
=2tan y
Therefore,

+ x° 1+y?

1( . P 1
tan| sl =ta11—(2tan"x+21an" y)
2 1 2

= tan (‘[an"1 x+tan™ y]

== (3]
(2]

Question 14: 60 &)
_ [ i j < L
sin| sin” —+cos x |=1

If 5 , find the value of x. %)

\
N

Solution: %
[t siven that sin[sin" é+ws'I xJ =1 .\OQ @&Q
is given tha .\\ %)
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Since we know that Sin(x+y)=sinxcos y +cosxsin y
Therefore,

sin [s.in‘l l] cos (cos'l x) +¢os [sin‘l lj sin (ccos‘i x) =1
5 5

{%] x(x)+ cos[sin‘I %] sin(cos" x) =1

§+cos(sin‘%]sin(cos’ x)=l wil 1)

sin"l— = sin =3
5 Y Y 5

Now, let
Then,
2
cosy=,[1— [l]
5
_2J6
5
= —2\/8
¥ 5
Therefore,

sin”" %: cos™ (?J -(2)

Now, let cos ' x=z=cosz=x

Then,
sinz =v1-x’
z=sin"'vV1-¥*
Therefore,
cos™ x=sin”" Y1-x7 w(3) O®
0 a\\
From (1)-(2) and (3), we have @6 ()
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Question 15:

tan ' i
If x—2

-+

Solution:

It is given that

tan ' x+

Since
Therefore,

https://millionstar.godaddysites.com/

- §+ cos{cos"1 %Jsin (sin‘l 1-x* ) =1

xZ\/_\/l__

=>x+2\/_\}1— =35
= 5—x=2J61-x

oth the sides

25+x% —10x = 24— 24x’
25x* -10x+1=0
(5x-1)" =0
(5x71)=0
1

x=—
5

s W

tan =—
x—=1 4, find the value of x.

4 x-1 ax+1l 7
+tan ——=—
x—2 x—1 4

tan”' y =tan”' | 222
=%y
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x—1 =x+1

—_—t

, = T
= gait ¥x—2 x+2 =%

H=)5)
e _(x—l)(x+2)+(x+l)(x-2)} _

_(x+2)(x—2)—(x—l)(x+l)

il
4

:>tan'1-x2+x_2+x -x=2| 7@
L X —4-x"+1 4
:m_1_2x2—4 _E
I
L 4-2x° n
— tan| tan =tan —
3 +
425"
= 3 =]
s W
=0x" &
el .I.
=x*==
2
:>x=4_ri
2

Question 16:

sin”’ [sin —J
Find the value of D /4

Solution:

Since, #insin (8- )
Therefore,
o oo e ]
_sin” [sin %} 60 (,;\30
3 9
Question 17: %\(& Q
Find the value of ™" [w" 3%] .\\\O Q’O
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Solution:
Since, fan tan (8- )

Therefore,
tan"[tanEjzt&n‘1 —tan —B—EJ
4 4

_ T
=tan"'| —tan| 7 ——
4

Question 18:

. tan(sin"§+ cot"—3~J
Find the value of 5 2

Solution:
.3 .3
sin' —=x=sinx=—
Let 5 5
Then,
4
= cosx=+1-sin’ x o
5
= S8CCX=—
4
Therefore,

tan x = v/sec’ x —1

- 2

g3 9
x=tan — &
o 2R

sin?2—an2 (1) S

B 4

Now, - O é
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'

=
O
Z

cot"%=tan"‘§ il 2]

Thus, by using (1) and (2)

tan| sin™ i+cot" 2 =tan| tan™ = +tan™ 2
5 3 4 3

13,
4
= tan tan'lz)
6
7
"6

Question 19:

-1 [ T )
cos™' | cos— |
6 J is equal to

i S id z
(A) 6 (B) 6 ©) 3 (D) 6
Solution:

b 7%} ,,[ —’hrJ
cos!| cos— |=cos™!| cos——
[ 6 6
=cos”' [cos[Zn —7—EJ:[
6
_{ [Sx H
=cos | cos| =—
6

Thus, the correct option is B.

Ques:ion 20: «(O &@
o [E_Sin-l [_%D is equal to %\(b CB'Q

1 1
(A) 2 (B) 3 ©

%
%
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sinx=——
2
. T
=—sin—
6
) T
=gin| ——
)
T
x=——
6

| . s (1)=| 7.2
Since, Range of principal value of 2 XN
Therefore,

Then,

Thus, the correct option is D.

Question 21:
= =1
Find the values of &% V3 —cot (_\6) is equal to
_r
(A n (B) 2 <)o
Solution:
Let tan '3 =x
Hence,
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T Ton
tan:fc‘zx/gztanE —E[“—,—]
3, where 3

tan~' 3 =—
Therefore, .

Now, let cot” (_\6) =Y

Hence,

coty= (—\/5)

6

5
=cot| —
6

Since, Range of principal value of cot” x=(0.7)

Therefore,
. Sm
t! (/3 )=—
co (J_) =
Then,

Sn
tan"' /3 —cot ™ (-3 ) =2 - 2L
an co ( \/_) s &

e,
2

Thus, the correct option is B.
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MISCELLANEOUS EXERCISE

Question 1:
_ cos™ (cos—ﬂj
Find the value of 6 /.

Solution:

5 [ 137 ) e ( T ]
cos | cos =cos |cos|2m+—
6 6
=cos [cos Z]
6

T
6

Question 2:

tan 1[tan 7—}
Find the value of 6 /.

Solution:

tan™' (tan 7—”] =tan”' | tan [21? _S_x]
6 [ 6

Question 3: 60 \\O
2sin” % =tan"' % < @)

Prove that . %
B g

Solution: %
sin"zz:f:»sinx:é OQ KQ

Let 5 5 .
Tlelen, ’\\\ ®®
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Therefore,
3
tan x =—
4
x=tan™' 3
4
sin™' =tan']% ss:{1]
Thus,
LHS =2sin™ 4
5
=2tan” % [_from (1)]
P
2x E
= i 3-4 -
-3)
L 4
=tan”’ E]
\_\_ 7
= RHS
Question 4:
sin ' —+sin ' —tan’IE
Prove that 17 36.
Solution:
., 8 . 8
SiInT —=x=s8nx=—
Let 17 17
Then,
8 [225 15
cosx=,/1-| —=| =,|—=—
17 289 17
Therefore,
tanx =—
x=tan” i
15
=1 8 | 8
2 = 1
sin 7 tan = ( )

mm Wondershare
PDFelement

Remove Watermark g



https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
http://cbs.wondershare.com/go.php?pid=5239&m=db

mm Wondershare

https://millionstar.godaddysites.com/ Remove Watermark g~ ppFelement

sin"%=y:>siny=

Now, let
Then,
[3]2 16 4
cosy=,[l—-|=| =,—===
5 25 5
Therefore,
tan —é
Y 4
-~ta|:|‘li
¥ 4
sin"iztan"E «{(2)
5 4
Thus, by using (1) and (2)
LHS =sin™ £+sin" .
17 5
—tan St
15 4
[ 8 3
_+_
il
| 15 4
[32+45
PR | 60
=tan " o0—24
L 60
:tan’]ﬁ
36
= RHS
Question 5: @
cos"‘i+cos_'£=cos"‘£ 60 ?&
Prove that 5 13 65. @ Q

Solution: \(&cg Q

44 4 %
COS —=X=>COSX=—
Let 5

Then, ’ OQ KQ
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— '
LIONS
. [4)1 3
sinx=,/1-[=| ==
5 5
Therefore,
3
tanx=—
4
x=tan"'=
cos” —=tan™" 4 (1)
4
cos’' 2 = cosy= =
Now, let 13 ¥ % 13
Then,
siny=—
Therefore,
tan y = i
a 12
-
? 12
12
cos"—=tan"i (2)
13 12

Thus, by using (1) and (2)

cos™! A ios I 3 an 2
13 4 12
3.3
a4 12
Rl P
4 12
_,“56]
=tan”!| 2
33
33
cos”’ —=z=>cosz="—"
Now, let 65 65

Then,

. [33J2 56
sinz=,[1-| —=| =—
65) 65
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herefore,
33
tanz =—
56

56
33

cos™ > = tan 20 .(4)
65 33

z =1tan

Thus, by using (3) and (4)

L4 12 33
oS —+C0S —=cC08 —
13 65
Hence proved.
Question 6:
_| . _I _I 56
CO8§ —+4S8Smnm —=Sm —
Prove that 13 5 65.
Solution:
cos’' 2. = Cos .
Let 13 7 & 13
Then,
siny=,[1— = 2 —
4 13) 13
Therefore,
tan o
¥ 12
5
=tan” —
Y 12
12
c:os']—='tan"i (1]
13 12

Now. let sin %zx:sinng 60 \'
W,
Then, @ Q

5 5
Therefore, %
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Thus, by using (1) and (2)

3
tanx——
4
3
:‘[an _
4
_ 53
'“—tan'Z (2
sin n = (2)
56
—=z=>sinz=—
65
[56) 33
cosz=,[l— S
65 65
56
tanz = —
33
zzwn"ﬁ
33
sin”™ E =tan™ ﬁ ; (3)
65 33
LHS =cos™ 12-!rsm =
3 5
) i3
4
I i 3
=tan" 2 4
L 12 4
20+36
_ st 48
=B e s
L 48
S
\ 33
. 156 :
=sin — Us 3
= [Using(3)]
= RHS
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Question 7:
2 sin”' L cos™ =
Prove that 16 13
Solution:
5 . 5
sin” —=x=>sinx=—
Let 13 13
Then,
5 12
cosx =, (l-| — —
1 13
Therefore,
5
tanx =—
12
4 55
x=tan —
12
sin”' 2 e tan™' 2
13 12
cos ' 2 = cos 2
Now, let 5 ¥ Y 5
Then,
siny = 1—[;’-]2 _4
4 5) 5
Therefore,
4
tan y = —
#=3
4
=tan~ —
& 3
cos™ 2 tan™ 4
5 3

Thus, by using (1) and (2)

https://millionstar.godaddysites.com/
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=LHS
Question 8:
4 o 1 41 =
tan —+tan —+tan —+tan —=—
Prove that 5 7 3 8 4
Solution:
LHS:tan"é+tan‘ll+tan“l+tan‘lé
I 1 I 1
=tan"'| 2T |4tan!| 38
11 11
Jomeais |
5 7 3 8
= tan ' E}Ltam" [H
34 23
(7))
=tan | — |+tan | —
17 23
6 11
4| 17723
= tan T
17 23
_tan‘l E
- 325
=tan"' (1)
7 O@
4 N
— RHS @6 c’)\\
Question 9: \('b %_

b 3

Prove that
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Let x=tan’ 0
Then,
«/;=tan9
6 =tan™ \/;
Therefore,
(H)_ 1—tan’ 0
1+x 1+tan’ 0
=cos 20
Thus,
RHS = lcos'I [I_—xj
2 1+x
:lcos "(cos20)
2
_lx 26
2
=0
=tan™" x
= LHS

Question 10:

\/l+sinx+x/1—sinxJ ., [ :rr]
=—,x€|0,—

t—l
Prove that [\/HSinx—\/l—sinx

Solution:

(\/1+sinx+\/]—sinxJ_ (\/1+Sinx+\/l—sinx)2
(\/1+sinx)2—(le—sinx)2
_(l+sinx)+(l—sinx)+2\/(l+sinx)(l—sinx)
l+sinx—1+sinx

2(1+\!1—sin2x) 14 cos x

2sinx " sinx 60 ’\O
2cos? X <
O . %
25in§005§ (& Q

N

= cotE %
T OQ QQ

T s (by rationalizing )
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J1+sinx —+/1—sinx

=cot™ (cot i]
2

LHS _cot_1[\/l+sinx +\/l—sinx}

LA R

HS

Question 11:

af Vi+x—vl1-x)| o« 1 1
tan™| ——=—p—|==—_cos" x,——=<x<I
Prove that I+x++l1-x) 2 2 )
Solution:
x=co0s20 =0 =lcos" x
Let 2
Thus,
LHS = tan™ | YIEE N1 X,
VIt x+4l—x
— V1+c0s 20 —/1—cos 20
J1+c0s26 ++/1-cos 20

|
)

= fan

(J2c05°6 _/2sin?6 }

V20528 ++/2sin%6

— tan” ﬁcosﬂ—ﬁsin@}

V2 cos6 ++/2sind
=tan ' M]

cos6 +sinf
. l—tanﬂ)

l+tan@

=tan '1—tan ' (tan6)
b4

=—-6

4

T 1
=—-——C08 X

4 2

= RHS
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Question 12:
97 9 .
—-=5

= m‘Il gsin"—2\5
Prove that 8 4 3

4 3

Solution:
97t 9

LHS=—-—s'n"]—
8 4 3

9(mr . ;41
=—| =—sin™ =
41 2 3

:E(COS—' l] (1)

4 3

1 1
~1

COs —=X=>Ccosx=—
Now, let 3 3

Therefore,

x =sin! &
3

BS| 240

cos §=sin 5 +.(2)

Thus, by using (1) and (2)
97 9. ,1 9. 22
——=sin" —==8in" ——
8 4 3

Hence proved.

Question 13:

Solve 2tan ' (cosx)=tan '(2cosecx) 60 Xe

Solution: @

It is given that 2 tan"' (cosx)=tan"' (2cosec x) (&6 Q
Ztan’l(x)ztan" 2x2 6\

1—x

Since,

Hence, ‘ \’\\O @@
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2cosx

1-cos’ x

= (ﬂ] = (2cosec x)

1-cos’x
2cosx 2

:>tan"[ Jz tan™' (2cosec x)

sinx  sinx
= COSX=SInx
=tanx=1

n
:>tanx=tanz

Therefore,

T
X=nm+—
4 ,where ne 7.

Question 14:
-1 l_x

L, ey
an =—tan x,(x>0
Solve 1+x 2 ( )

Solution:
 tan'x—tan'y=tan ' ¥
Since 1+xy
Hence,
1- 1
—tan'—Z=_tan"'x
1+x 2

-1 —1 _1 -1
= tan~ | —tan x—Etan *

—> —=—tan x
:>tan'lx=£
6
:>x—tan£
6
: <
=D X=—
3

Question 15: (&6 Q
sin (tan™" x). | <1 g equal to %\
x 1 1 KQ
(A) V1-x° (B) V1-x° (C) V1+x* . +®2

Solve
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'

=
O
Z

Solution:
Let tany=x
Therefore,

Now, let tan"' x=y

Therefore,
P=gin ( o ]
Ylex’
Hence,
tan™' x =sin™ ( i
V1+x*
Thus,

sin (tem"1 x] =sin [sin'1 X D
\V1+x%

X

V1+x?

Thus, the correct option is D.

Question 16:

sin”' (l - x) _2sint k=2

Solve: 2 , then x is equal to

0L L 1
(A) "2 (B) 2 (©) 0 (D) 2
Solution:

L. sin”' (l—x)—25in'1x=£
It is given that 2

= sin”' (I —x)—ZSin" X :%

:—25in"x=%—sin"'(1-x) 60 (a)\

= -2sin”' x=cos™ (1-x)

Let sin'x=y=siny=x %

Hence, Q &Q
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cos y =+1-x7

y=cos (\31 - x? )
sin” x=cos'VI-x’

From equation (1), we have

—2cos™' Y1-x =cos™ (1-x)

Put x=siny
= —-2cos ™' y/1-sin’ y =cos™ (1-siny)
= —2c0s ' (cos y) =cos ™ (1-siny)
= -2y =cos™ (1-siny)
= 1l-siny= cos(—2y)
= 1-siny=cos2y
=1-siny=1-2sin’y
= 2sin’ y-siny=0
= siny(2siny-1)=0
. 1
25my=0,5

Therefore,

M| =

x=0,

l
X=— . H .
When 2, it does not satisfy the equation.
Hence, x =0 is the only solution

Thus, the correct option is C.

Question 17:

tan”’ (il—tan" =y @
Solve y X+ is equal to 60 :\SC)
T T ()

(A) 2 (B) 3 (©)

I
S
)
“
Q
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R
' Y ant| Y Xt

= R
] y)\x+y

[ x(x+y)-y(x-¥)

| ()
y(x+y)+x(x-y)
y(x+y)
[y
xy+3y +x* —xy
=tan"' (1)
=tan"’ tani]
\ 4
=i
4

Thus, the correct option is C.
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